‘) ) From Linjing

f; Question. :
/How>s Can we prove
Ois an eigenvalue a\]c A Ais sigulor (%)
O is NoT on eigenvawe th &= Ais non-Sigular -

L pref:

Re(mir the dﬁin&tfom: det(AI-A)=o &= Disan gijenvalue o\fA~
O """ of &%).
IJC 0 iS an eigenuvalue ?f A. oetco-I-A)=0
= det(-~-A)=0o
= detCA)=0
S Ais S}r\l_?ula.r.
O '« "ojm).
:{f R IS Sixjulay, detCA) =0
2 det(-A)=o0
DdetC0oI-A)=D
= 0 is on eifenvaiue cOC A -
pueeting ®and @ tyether 1o et ,
0ison eigenvalue o\}c A Ais simgular (%)
Sinc@ we Awe proved (*) is true, the Cowtmposition oj (%) Showtd
be also true ., vhich |s,
O is NOT an eigenvawe U‘ A= Ais non-Sigular . @



